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ACCOUNTANCY

Full Marks : 100

Pass Marks : 30

Time : Three hours

The figures in the margin indicate full marks
for the questions.

Q. No. 1 carries 1 mark each

1 (a) 1x4 = 4

1 (b) 1x2= 2

1() 1x2= 2

Q. No. 2-6 carry 2 marks each 2x5 =10
Q. No. 7-11 carry 3 marks each 3x5 =15
Q. No. 12-18 carry § marks each 9x7 =35
Q. No. 19-22 carry 8 marks each” 8x4 =32
Total =100
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1 (a) Fill in the blanks with appropriate word/words : 1x4=4
Borge *ea AT A2 A T

()

(1)

(i11)

(iv)

Unrecorded assets when realised are credited to
Account.

ST

When Partners’ Capital Accounts are fixed, their
Accounts are prepared.

e ieimIes ereea fRotet 2w e, cof o coeta
f2piel oge +9 = |

Partner’s Loan Account is paid before payment of

L m frme o SR A fRpiel s fran ==

If a partner takes over a liability of the firm, the partner’s
capital account is

ﬂﬁaﬁmw%w%maﬁmq@ﬁmw (S 2
QARG JEeE 251 =4 2 |

(b) Choose the correct alternative : 1x2=2

()

27T ACOT]T

Teq qigF 4 ¢

Financial Statements are

fFen fferam 2=

(1) Summarized reports of recorded facts

Rive sAER WY Afer@

(2) Detailed reports of the recorded facts
“Rive sUrERe [ge e

[2]



(3) Summarized reports of only cash transactions

(PTG oW (Fcne F2R TP eiforam)

(4) None of the above
8999 GHIS 2 |

(i) Financial Statements of a company include :

GOl @R [REln Rferre Tee swse 1z @i ¢

(1) Only Balance Sheet
(FEE Tyer@

(2) Only Profit and Loss Account
(TG - 251t

(3) Only Cash Flow Statement
(R F5eeE o[z Afo@v |

(4) All of the above

Go[Tq (IICH2 (20! |

(c) State whether the following statements are true or falsc :
1x2=2

TEE IR (PP wEm 7 ST Tl e

(i) Financial analysis is used only by the creditors.

e R @ YAIe e 2[iE IR o |

(i) The decreased partner’s executor is entitled to a share of
profit for the period upto his/her death.

TS SAMIRe efefifie seimRema g TRt & #ie 28 o
S {1 |
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2. What is a Capital Fund ? 2
e ffe gferet & @ 2

3. Ram, Shyam and Hari are partners sharing profits in the ratio of
2:2:1. Hari retires. Ram and Shyam have decided to share future

profits and losses in the ratio of 2:1. Calculate the gaining ratio.
| 2

Ram, Shyam @& Hari 2:2:1 SH#TS i 954 I& SR 990 I |
Hari S9{ 229 (9| Ram 9% Shyam SRR e OF @6 2:1
SANSS 5 T P #17 | AreRere [ 54|

4. Mention any two features of debentures. 2

AAGS Rigeie 7ol (S Somd 4 |

5. Assam Tea Ltd. decided to forfeit 1,000 shares of 2 20/- each for
non-payment of allotment money of ¥ 5/- each and 1st and final
call money of 2 2/- each. Give journal entry for the forfeiture of

shares. 2

Assam Tea Ltd.-9 1,000 B 20 51 SIXo{@ S0« ©&d 5 5F S AL
WE PAIT O 2 T SR (ARG TSNS I |

SR*iolg ST A Gl 2@ fam

6. Mention any two methods of valuation of Goodwill. 2
TN SRR Ricpica 7h) “iafs Srmd 4 |
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7. What are the sources of Cash Flows as per AS-3 (Revised) ? 3
AS.3 (+fAERS)T s Foin 2died SR 67

OR / 7241

From the following details, calculate Current Ratio : 3

Wﬁ%ﬁ@ﬂﬁ%sﬁf@@ﬂvﬂ@ﬁ@ﬂg

)
Sundry Debtors 10,000/ -
fRfdy (e
Stock 8,000/ -
TG A
Prepaid Expenses 6,000/ -
G eve 4G
Sundry Creditors 8,000/ -
Ry slieami
Bank Overdraft 2,000/ -
@ SORGIE,
Interest Payable 2,000/~
AMA 79
Debentures 50,000/ -
A @
Buildings 1,00,000/-
ST
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8. Explain the meaning of financial statements.

e fgfen wref apa =1
OR / 734

What is trend analysis ? Mention its usefulness. 1+2=3

C@“{WW%?WWWWWI

9. What is Common Size Statement ? What do they show ? 142=3

TR Ao M 2 GREE & o 2
OR / 723}

Explain any one Method of Valuation of Goodwill, 3

TR SRR Rl 9by siwte g1 < |

10. State any three features of Receipts and Payments Account. 3

G W 2= iR R folanr @R S w9
OR / 733!

Explain the meaning of Fund-based Accounting, 3.

Jfer-fefes fRoivmem w1 ey =1

11. Mention any three limitations of Financial Statements. 1x3=3

ﬁ@aﬁ%@mﬁm%ﬁmﬁ@mwf
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12. Guwahati Sports Club has a Cash and Bank Balances of
3 5,000/- and ¥ 10,000/- respectively on 01/04/2015. From the
following details, prepare a Receipts and Payments Account for the
year ended 31/03/2016 : 5

Guwahati Sports Club< 01/04 /2015 SIf€ed 57 47 SF ([EFS Tl FCl
5,000/~ 53l oI 10,000/ - 53 Siifest | MR [Reeeia®s 291 31/03/2016
e OE #[ I2ABR A T SF 46 219 AFe 4 ¢

()
Entrance fees received 8,000/ -
k) K a5 IR
Donation received 10,000/-
g v

Donation received for Building 10,000/-
SR @ ¥ A

Computer purchased 12,000/~
FY ]| F0IRE T

Salary paid 5,000/ -
VRl R

Repair to Building 6,000/ -
TR GRS

Rent received 5,000/ -
e ol

Wages paid 3,000/-
A% B TG H
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Outstanding salaries 2,800/ -

e )

Depreciation on Furniture 13,000/ -
AR71aS SFY

Maintenance Grant received 8,000/ -

THEG A A F96H

Subscription received 10,000/ -
Al =8l |
Life Membership Fees received 10,000/ -
Y SGRE 7S] el

Cash in hand on 31/03/16 40,000/ -

31/03/16 ©If€4d TS A Fowe |

OR / 723/
Mention any five distinctions between Receipts and Payments
Account and Income and Expenditure Account. S

Gl S 495 (25171 Sl SR-% Z51o Siere 1 Rz #ish) oiedy e < |

13. From the following information, ascertain “Cash Flow from
Investing Activities” : S

©eTe fAal SAART o R sriesR o[ w6 gw 2] Fe =
Land and Buildings purchased during the year 2 2,00,000/-
LA TErS Bfil SN S9q @

Additional furniture purchased during the year 2 50,000/ -
IFOR TEre Tfefie wisar @3
Investments purchased T 50,000/-

R &=
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Investments sold 2 1,00,000/-
Rfaree &ie

Loss on Sale of Investments 2 5,000/-
s Rig= 91 G
Plant and Machinery sold during the year 2 40,000/-
Dividend received 7 15,000/-
oAl =
Interest received Z 20,000/~
i) i S5 \0)
Sale of land Z 3,00,000/-
ohm e
Profit on Sale of land Z 1,50,000/-
ofit R 741 =ire

OR / &3
Explain the meaning of Cash Flow Statement. Mention any three
objectives of Cash Flow Statement. 2+3=5

eTideE 2R eferameR ol I = | ZWE R foiebr Srr S 4 |

14. From the following information, calculate () Current Assects
(i) Current Liabilities and (1) Quick Ratio. 5

weTe el BUE o (i) bfere F=Af€ (i) bleTe (vl I (iii) ©FET TGS el 4 2
Working Capital =% 40,000/- ».

I L

Current Ratio=2:1 gt

BfeTe SRS

Stock =% 30,000/-

TGS
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OR / #&4]
What do you mean by Activity Ratios ? Explain the method of
calculating any one of Activity Ratios. 2Ya+2Y%=5

Hirel See e & 91 ¢ R 9b Afame se@iies [z & 2 << |

15. The Balance Sheet of Ram, Shyam and Hari who were sharing profits
in proportion to their capital stood as follows on 31st March, 2016 :

Ram, Shyam and Hari fefigm wisiivica (SeEes Jw4e SHIES #1S 367
Rife & 31 =15, 2016 Sty (Seraa Tgevia wae M wid i ¢

Balance Sheet (Tge7a)

Liabilities (G#) () Assets (777f@) (2)
Sundry Creditors 10,000 | Cash at Bank 9,000
fafae “remmE @S TG

' Sundry Debtors 6,000
Capital Account : Ry (e
T o1 ¢ Stock 9,000
Ram : 20,000/- TG AT
Shyam: 20,000/- '
Hari : 10,000/- | 50,000 | mYestments 000
———— Tl
Buildings 30,000
&g
60,000 60,000

Shyam retired on the above date on the following terms and
conditions :

wETe Wl 5% S, €% wifitd Shyam SRR 276 SR ©

(i) That stock be depreciated by 2 1,000/-
TGN PR 62RS 1,000 TF S 44l R4 |

(i) That Buildings be appreciated by 20%.
TR TF 20% A @ A

a0
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Pass the necessary journal entries and prepare the opening
Balance Sheet of the new firm. )

eirarEeE w2 fra e T AfeRimE SeEf Tgaiy age |
OR / Zd]

Explain the issue of shares at par, at a discount and at a premium.
5

TREPg AL, 0T S sfagEe [T e 4|

16. A, B and C were partners in a firm sharing profits in the ratio of
3:2:1. Their Balance Sheet as on 31/3/2016 was as follows :

A, B S C 3:2:1 SHAANS @S 70 T Sieqma oifee | 31/3/2016 @IfFrd
(SSTEGA Tgard were Al wid Sl

Balance Sheet (@@'ﬂﬁi)

Liabilities ((7l) (2) Assets (7€) )
Creditors 4,000 | Buildings 20,000
GBIt oae
Reserves 6,000 | Machinery 16,000
sif& TEe
Capital : Stock 4,000
I ¢ TGS 7]

g = :g’ggg; ; é Debtors 15,000
b -— ) —
C = 20,000/- 50,000 _
Cash at Bank 5,000
[@FS A5
60,000 | | 60,000

A died on 30/09/2016. Under the agreement, the executors of the

deceased partner were entitled to :
30/09/2016 SiRYS A7 T <1 | FES IO ST Afefiid 7 i[9 ¢

(@) Amount outstanding to the credit of partner’s capital account.

SR Ede ZEIeA (et 4! alel & |
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(b) Interest on capital at 12% per annum.
R 12% FE FIR 7S 79 |
(c) Share of goodwill on the basis of four years’ purchase of the
average profit of last three years.
fRere fol 2227 9iv #ires bift a598 Tae fofas fdfa w1 e @i
(d) Share of profit from closing of the last financial year to the
date of death on the basis of last year’s profit.
e a9 = fefe f2pied 4 =% [Rore awe Amal ©ifezm st o=
IR #req e |

(e) Profits for the last three years were :

fare ol <=3 #ire wifes ¢

Year/bd Profit/=l[©
()

2013-14 8,000/-

2014-15 12,000/-

2015-16 7,000/-
Prepare A’s capital Account on the date of his death. S
A= IR SRS (©€] THL Zhl7 4we 31|

OR / #Z41

How would you compute the amount due to a retiring partner or

the executors of a deceased partner ? S

G SRR (TR SR S GG TS A IE 2fefeoReers S e
5l (e faEe
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17. Akash and Bikash are partners sharing proiits in ihc ratlo b o.<.
Their Balance Shect as on 31/03/2016 was as follows :

Akash =% Bikash SIGTWIE 480 3:2 SRATES &l 54 FC3| 31/03/2016
wifrd (eSERa Sgeria wae fwal v e

Balance Sheet

(Tperi@)

e
?Ifiabilities (wel) (2) Assets (7€) (i)l
Capital : Sundry Assets 40,000
TR 2 Ak sife
Akash = 12,000/-
Bikash = 8,000/- 20,000
General Reserve 10,000
g e
Sundry Creditors 10,000
fafay sreamia
40,000 40,000
 — ——

The firm is dissolved on the above date. Assets are realised at 2
60,000/-Dissolution expenses came to 2 2,000/-.

Give journal entries to close the books of firm.

eo@@@@ﬁ%aﬁa@ﬁwmﬁlﬁﬁwﬂmﬁﬁmﬁﬁ 60,000/ -
Gl SR (ol o1 | SRERE 9w E (2 2,000/ - 5|

SRR EEPETRE % See I TIEm AR
OR / 724l

Explain any five distinctions between Revaluation Account and
Realisation Account.

sasEiEe 251 S TwTEEe Rpiei WEre 2l Rl #Apo) A [ w0

AT AT

[13 ]
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18. What do you mean by preliminary expenses ? Mention the items
which are usually included in the list of preliminary expenses.
2+3=5
Aies 496 Ifere 6 9= 2 2fET wape oifFe AgRire Teve ([ e
TrEY 34|
OR / #fE41
Give the new format of the Balance Sheet of a company (main
headings only) as per the requirements of the revised Schedule-VI
of the Companies Act. S
@A s AReifae SFERI-VI SR @ @R Sgedes wgn
SR (FREE 20 FremmR) T a4 |
19. Following is the Trial Balance of ANIMA and PRATIMA as on 318t
March, 2016 :
31 W6, 2016 ©If¥E ANIMA ¥% PRATIMAS ©9€ fiem oiada ware faam
W e ¢
Dr. Trial Balance (%@ f@m-=3) Cr.
Particulars (®) Particulars (@)
(FFae) (fF7a)
Machinery 50,000 | Capital :
TgAIfS o ¢
General Expenses 5,000 ANIMA - 60,000
F 100 B =
TR S PRATIMA- 46,000 |1,00,000
Furniture 10,000 ‘ sseo
IR Trad;ng Account
Salaries 20,000 il 7 o
Eee : — Gross Profit 90,000
Cash in hand 5,000 | — T T
Z e
s R Sundry Creditors 10,000
Investments 12,000
Sl R4 siremmia

27T ACOU [ 14 ] oo e®



Cash at Bank 8,000 | Commission 10,000
[@ee 4F| w9 4 5 :
Bad debt 2,000
SR 4
Sundry Debtors 40,000
Ry ommE :
Buildings 50,000
=g
Publicity 8,000
Eiaign
2,10,000 2,10,000
e —— §

Prepare the Profit & Loss Account and the Profit & Loss

Appropriation Account of the firm for the year ended 315t March,

2016 and a Balanc

consideration the following additional information :

e Sheet as on that date after taking into

8

o fral SiSRE SRR Rl TR 31 6 2016 RS S T=IEH A

Aro-(Eao =oiel, @re-
Tgerid 2Ee 4

(i) Depreciate Machinery @ 10% p.a.

5[ 10% 2@ TN eofae S 49|

(i) Partners will get interest on capital @ 10% p.a.

ST EAEE d28 10% E T 8%iFe IO 7|

7T ACOM]T

[15]
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20. NE Traders Ltd. issued 5 ;000 shares of 2 20/- each at par payable
as follows:

2 35/- on Application
R 5/- on Allotment
2 5/- on First Call
% 5/- on Second and Final Call.
All the shares were duly subscribed for, Called up and Paid up.

Show the necessary entries in Cash Book and Journal of the
company for the above transactions. 8

NE Traders Ltd.-4 2f$3q 20/- 5 %77 5,000 4 wiesioig AT ffermae
TE I TS oS R e ARy sRe S o

YA FS 5/- 5l |
TS FAS 5/- 5 |

YAV OFRT T 5/- Gy |

faSty w2 pare wew = 5/- 5

PIREPAE (IR A F>54ef S (2NN 9157 | (SNDRAR T 41 25 e sigRfe
CofR s |

W@Emﬁmwwmﬁawaﬁﬁﬁw

OR / 724
Write short notes on : 2x4=8
5 (Bl e
(@) Minimum Subscription
TS a9

(b) Authorised Share Capital
TGP S T

7T ACOU [16]



(c) Reserve Capital
et e

(d) Preference Share

SeEFRTE SIed

Give journal entries in respect of the following : 8

weTe [l SREPTIER A wicam o e

(i) Debentures issued at par, redeemable at a premium.
“ejolas TS RFE S SfHERS AT |

(i) Debentures issued at a premium, redeemable at par
2ycisiae SfzEe e IR TGS AR |

(iiij Debentures issued at a discount, redeemable at par
Aeiiad AGTe RiEead S FAErS AR |

(iv) Debentures issued at a discount, redeemable at premium.

ejofaa QBTG Rereee OiF SRS AR |
OR / &1
Explain the different methods of redemption of debentures. 8
aeiofg offReeea Rfen srafowmz A=l <l
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22. Ram and Shyam are partners in a firm sharing profits and losses
in the ratio of 3:1. Their Balance Sheet as on 1st April, 2016 was
as under :

Ram ®% Shyam 3:1 TS #C SIS (FFHH 304 T FOS 9b| A
SR | 1 @ 2016 OiES (OEET $EEHE TEe maR WA iR ¢

Balance Sheet

| (Tgeia)
Liabilities (C) ®) Assets (F7ifg) )
Sundry Creditors 12,000 Cash at Bank 6,000
&y sthemE O WA
Reserve 9,000 Goodwill 12,000
gl Sl
Capital : Sundry Assets 57,000
PGECE fafay ife

Ram = 30,000/-

Shyam = 24,000/-| 54,000

75,000 75,000

On that date, Barun was admitted as a new partner. He paid ¥
30,000/- towards his capital, but was unable to bring his share of
Goodwill of ¥ 6,000/- in cash. The new profit sharing ratio was
agreed to be 3:2:2.

Pass journal entries in the books of the firm and show the Balance
Sheet of the new firm. 8

@58 BTy Barun-4 95 7gA SAME it f¥fE #iite | Barun-4 o3
TE 251l 30,000/~ 538w e, 68 F= A 6,000/~ B HoWE
=i F@RIRE | S 599 wgq Igeite 3:2:2 ¥4 95 Frare @k 2 |

ofSHmIeR J5Te Gl 2R fa o wpe dfcvie Sgera 4Fs &

27T ACOU [18]



OR / MZ41

What do you mean by debenture ? Explain any six points of
distinctions between shares and debentures. 2+6=8

ejorz 30T 16 a0 2 TPIa S WelPlaT WS A Rz 51 =Aidles o &1 |

27T ACOU (19 ]



